

# City of Grand Island

## Tuesday, February 24, 2015 Council Session

## Item G-10

**#2015-49 - Approving Bid Award for Concrete Pavement and Storm Sewer Repairs for 2015** 

Staff Contact: John Collins, P.E. - Public Works Director

## Council Agenda Memo

From: Shannon Callahan, Street Superintendent

**Meeting:** February 24, 2015

**Subject:** Approving Bid Award for Concrete Pavement and Storm

Sewer Repairs for 2015

**Item #'s:** G-10

**Presenter(s):** John Collins PE, Public Works Director

#### **Background**

On January 28, 2015 the Streets Division of the Public Works Department advertised for bids for concrete pavement and storm sewer repairs for the 2015 calendar year. The contracted concrete pavement and storm sewer work supplements the repair work that is performed by the City's crews.

#### **Discussion**

Two (2) bids were received and opened on February 24, 2015. All bids were submitted in compliance with the contract, plans, and specifications with no exceptions. A summary of the bids is shown below and complete bid tabulation is attached.

Bidder	Exceptions	Total Bid	
		Bid Price	\$880,905.00
O.K. Paving, Inc.		Labor (per hour)	\$50.00
of	None	Skid Steer Loader (per hour)	\$50.00
Hordville, NE		Front End Loader (per hour)	\$110.00
		Backhoe (per hour)	\$110.00
		Dump Truck-10 CY (per hour)	\$130.00
The Diamond Engineering Co. of Grand Island, NE	None	Bid Price	\$1,214,296.50
		Labor (per hour)	\$45.60
		Skid Steer Loader (per hour)	\$50.65
		Front End Loader (per hour)	\$92.90
		Backhoe (per hour)	\$87.85
		Dump Truck-10 CY (per hour)	\$87.85

O.K. Paving's bid submittal had a calculation error on line item #20 showing a unit price of \$550.00 for 15 each, an extended price of \$5,500.00, with a grand total bid of

\$878,155.00. Using the bid unit price of \$550.00 for 15 each the extended price would be \$8,250.00 which is \$2,750.00 more than quoted. The above summary of bids and attached bid tabulation has been corrected to reflect this increase.

There are sufficient funds in Account No. 10033506-85351 (Concrete Repair), 10033504-85318 (Storm Sewer Repair), 10033503-85318 (Curb & Gutter), and 10033503-85547 (Street Repair Materials) to fund this contract. This is a calendar year contract that extends beyond the current fiscal year. In the event that funds become unavailable in the fiscal year 2015/2016, the scope of work for this contract will be scaled down accordingly.

### **Alternatives**

It appears that the Council has the following alternatives concerning the issue at hand. The Council may:

- 1. Move to approve
- 2. Refer the issue to a Committee
- 3. Postpone the issue to future date
- 4. Take no action on the issue

#### **Recommendation**

City Administration recommends that the Council approve awarding the contract to O.K. Paving, Inc. of Hordville, Nebraska in the amount of \$880,905.00.

### Sample Motion

Move to approve the resolution.

# Purchasing Division of Legal Department INTEROFFICE MEMORANDUM



Stacy Nonhof, Purchasing Agent

Working Together for a Better Tomorrow, Today

#### **BID OPENING**

BID OPENING DATE: February 11, 2015 at 2:30 p.m.

FOR: Concrete Pavement & Storm Sewer Repair 2015

**DEPARTMENT:** Public Works

ESTIMATE: \$650,000.00 2013/2014

\$250,000.00 2014/2015

 $$900,00\overline{0.00}$ 

FUND/ACCOUNT: 10033503-85318 (Curb, Gutter & Sidewalk)

10033503-85547 (Street Repair Materials) 10033504-85318 (Storm Sewer Repair) 10033506-85351 (Contract Concrete Repair)

PUBLICATION DATE: January 28, 2015

NO. POTENTIAL BIDDERS: 7

#### **SUMMARY**

Bidder:	<b>Diamond Engineering Co.</b>	O.K. Paving	
	Grand Island, NE	Hordville, NE	
<b>Bid Security:</b>	Universal Surety Co.	Cahier's Check	
<b>Exceptions:</b>	None	None	

**Bid Price:** \$1,214,296.50 \$878,155.00 Labor: \$45.60 per hour \$ 50.00 per hour **Sid Steer Loader:** \$50.65 per hour \$ 50.00 per hour **Front End Loader:** \$92.90 per hour \$110.00 per hour \$110.00 per hour **Backhoe: \$87.85** per hour \$130.00 per hour **Dump Truck-10 CY:** \$87.85 per hour

cc: John Collins, Public Works Director Stacy Nonhof, Purchasing Agent Marlan Ferguson, City Administrator Catrina DeLosh, PW Admin. Assist. Shannon Callahan, Street Superintendent William Clingman, Interim Finance Director

P1796

#### Attachment A

**Bid Tabulations** 

Concrete Pavement and Storm Sewer Repair 2015

City of Grand Island Streets Division Opening Date: February 24, 2015

			Vendor	The Diamond Engineering Co Grand Island, NE		OK Paving, Inc. Hordville, NE	
Item	Description	Estimated Quantity	Unit	Unit Price	Extended Price	Unit Price	Extended Price
1	Remove 6" & replace with 7" concrete pavement (less than 6.0 SY)	40	SY	\$64.00	\$2,560.00	\$46.50	\$1,860.00
2	Remove 6" & replace with 7" concrete pavement (more than 6.0 SY)	17,000	SY	\$55.25	\$939,250.00	\$42.20	\$717,400.00
3	Cost per inch over 7" thickness concrete pavement	600	SY	\$6.85	\$4,110.00	\$5.30	\$3,180.00
4	Remove and replace concrete curb and gutter – 22"	2,500	LF	\$26.55	\$66,375.00	\$15.15	\$37,875.00
5	Remove and replace concrete curb and gutter – 30"	200	LF	\$27.90	\$5,580.00	\$15.80	\$3,160.00
6	Remove and replace vertical curb	300	LF	\$42.15	\$12,645.00	\$30.00	\$9,000.00
7	Remove and replace concrete sidewalk – 4" (less than 40 SF)	400	SF	\$6.50	\$2,600.00	\$6.00	\$2,400.00
8	Remove and replace concrete sidewalk – 4" (more than 40 SF)	2,500	SF	\$5.50	\$13,750.00	\$5.60	\$14,000.00
9	Furnish and install 2'x4' detectable warning plates RED in color.	150	EA	\$256.60	\$38,490.00	\$130.00	\$19,500.00
10	Build integral concrete curb	3,200	LF	\$6.05	\$19,360.00	\$2.65	\$8,480.00
11	Pavement saw cut (less than 30 LF)	800	LF	\$5.20	\$4,160.00	\$4.00	\$3,200.00
12	Pavement saw cut (more than 30 LF)	800	LF	\$4.05	\$3,240.00	\$4.00	\$3,200.00
13	Remove and replace RCP pipe – 12" (less than 7-1/2 FT lengths)	100	LF	\$72.15	\$7,215.00	\$55.00	\$5,500.00
14	Remove and replace RCP pipe – 12" (greater than 7-1/2 FT lengths)	100	LF	\$55.35	\$5,535.00	\$45.00	\$4,500.00
15	Remove and replace RCP pipe – 15" (less than 7-1/2 FT lengths)	100	LF	\$75.10	\$7,510.00	\$46.00	\$4,600.00
16	Remove and replace RCP pipe – 15" (greater than 7-1/2 FT lengths)	100	LF	\$58.90	\$5,890.00	\$43.00	\$4,300.00
17	Concrete collars on pipe junctions(through 15")	10	EA	\$443.00	\$4,430.00	\$250.00	\$2,500.00
18	Remove and replace Type "B" inlet	20	EA	\$2,010.00	\$40,200.00	\$650.00	\$13,000.00
19	Furnish and install Pre-cast concrete lid Type "D" inlet	20	EA	\$1,071.00	\$21,420.00	\$750.00	\$15,000.00
20	Adjust manholes to grade (concrete to grade)	15	EA	\$665.10	\$9,976.50	\$550.00	\$8,250.00
	Transfer to grade/	TC	OTAL BID	\$1.21	4,296.50	\$880	,905.00

#### Attachment A

**Bid Tabulations** 

Concrete Pavement and Storm Sewer Repair 2015

City of Grand Island Streets Division Opening Date: February 24, 2015

Item	Description	HOURLY RATE	HOURLY RATE
21	Labor	\$45.60	\$50.00
22	Skid Steer Loader	\$50.65	\$50.00
23	Front End Loader	\$92.90	\$110.00
24	Backhoe	\$87.85	\$110.00
25	Dump Truck- 10 CY	\$87.85	\$130.00

#### RESOLUTION 2015-49

WHEREAS, the City of Grand Island invited sealed bids for Concrete Pavement and Storm Sewer Repairs 2015, according to plans and specifications on file with the Streets Division of the Public Works Department; and

WHEREAS, on February 11, 2015, bids were received, opened and reviewed; and

WHEREAS, OK Paving of Hordville, Nebraska submitted a bid in accordance with the terms of the advertisement of bids and plans and specifications and all other statutory requirements contained therein, such bid being in the amount of \$880,905.00; and

NOW, THEREFORE, BE IT RESOLVED BY THE MAYOR AND COUNCIL OF THE CITY OF GRAND ISLAND, NEBRASKA, that the bid of OK Paving of Hordville, Nebraska, in the amount of \$880,905.00 for Concrete Pavement and Storm Sewer Repairs 2015 is hereby approved as the lowest responsible bid.

BE IT FURTHER RESOLVED, that a contract for such project between the City and such contractor be entered into, and the Mayor is hereby authorized and directed to execute such contract on behalf of the City of Grand Island.

- - -

Adopted by the City Council of the City of Grand Island, Nebraska, February 24, 2015.

	Jeremy L. Jensen, Mayor	
Attest:		
RaNae Edwards. City Clerk		